>z bt ( BXILB )

[ fou =725 78 x2+75X

f/(x)= 2| x2= 36X +15

= 3(x=1)(1x=%)

t
VN / oo

foyl + 0 —0
fool ABK Vi
2= % Ada SEE €3
E ;Efi . = |
, =4,
T IAF.0<t< 1293,

= -+ &
= (=2 |

( N—ﬂ}.
*(F~3)

X

=t =26\

1BE (b, t=4rS), (BT 2t

=,__-t—_ t""‘t—

oy’

=t =2t
2t
Sw)=1,
| =_3L[13J? 2[5+ t[iﬁ
cdrP ozt rst

- di-strest
~(R~3)

SAt)= 7> 2 trE

= (t-1(1t-%)
// St)a9 772
>t
: §
0.., 7‘... /
4O -
SR Y

(2% 42+ §)d A

&
N2
10
43

St)

At

S
&
t; ’,7 Z\\ MQX
"(4Y)

11S)=46S5®)

£: Y- (A-4r+8) = (2t~%) (x-1)
B 7421& ‘f-)x 8

v (717)

v(41) »,“..;g: (‘t)’J L Z— W(-tﬁ' {(ZT’W)X—TZ -W” olx

= f (xz—ztx-rtl)ofx

1 =J~[ t-—t[x‘]t-tt ()3

A t? '

&w) (Few obc
] [(Zf't)]J +T3

S1(B)=8t) — (£7F) 2 tFrro

ng?

%—tj— Lt et = bx =t
W - /8t7+185¢=0
t(t%= /8 t+1$)=0

0<t<| &) +=9- /7
[6¢
| + (X))




